| Efficiency vs Dxy |
> 0.1
<

S : : : : : : : : :
0,004

@.08F it
R e | O T R T S
D.O7[ il
oot iyl
e 1141 S -
0.04F

0.03

0.02
0.01{11
o+

Rati

0955 20-15-10 -5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mkFit_TT_base
| Efficiency vs Dz | | —=— DQM_mkFit_TT_retrain

—+— DQM_mkFit_TT retrain_noCandDNN
N 0.2 ; : . .

T XT e
& [ : : : : :
A6 A A A
(&) - B B B B B
.14 Frrrmeneeens g froreeeees e
o : : : : :
e
1 T T s
0.08 : : : : :

0.06

0.04F1-[# 4511

0.02f- [} 154
o+

L]

L 4 .
1xe| #

HE)

'ﬂ':

Tl 5 :

JEEERNARERE 2 - B

TT T LT T[T
-
= -
;‘“‘ --E---- --

Rati

E2 3

[
LIS L
»

3-

095" 20 -10 0 10 20 30

TP dz (cm)

|
W
o



	Contents
	Page 1


